x=2y=-1<Ld 2(x* - 3x) - 3x(x + y) + x> & & F3}oizt,
=

>
> He: -6

B ‘

2(x% = 3x) = 3x(x +y) + x?
= 2x% — 6x — 3x% — 3xy + x°
= —6x — 3xy

L=6x2-3x2x%x(-1)=-124+6=-6




2, y=2x-3¢M, -Tx+2y+2Ex] &

@ -3x+4 @ 3x+4

@—3)6—4 ® -3x-3

—Tx+2y+2=-Tx+2(2x-3) +2
=-Tx+4x-6+2
=-3x-4




3.

O A FollA U A Yl o 2427

Ss—a

@ t=

t 1%
@)a=vt—s ® s=vt+a

D, @, B, ®=a=s—vto|t}.




x=3,y=2% 0, (-8x% + 12xy?) + (-2)%xy — (9xy

-0 @5 -3 @5

- 6y?) + 3y ©]

® 10

(=8x%y + 12xy?) + (=2)%xy — (9xy — 6y%) + 3y
—-8x2y 4+ 12xy?  (9xy — 6y?)

B 4dxy - 3y

=—-2x+3y— (3x—2y)

= —5x+ by

x=3,y=2E tYsIH

(-5)x3+5x2=-15+10=-5




5. y=2x-1¥ m, x-2y+ 55 xof B Ao 7 fehfH?

1

D —4x-2 @ -x-1

® 2x+5
(@)—3)6—}—7 ® 4x-3

x=2y+5°y=2x-12 Y
x—2(2x-1)+5=x-4x+2+5
—3x+7




6.

x=-2y+6 4o, 3x -4y + 15 xof T AoE YEpH 227

® 5x @ 6x ® 5x-3
@ 5x-9 @5)6—11

B

x=-2y+6 2y = AsIH
_ —x+6
YT

o] A& 3x -4y + 1°f HY5HA

3x—4(_x2+6>+1:3x+2x—12+1

=bx—-11




(2x+y): (x=2y)=3:1< o, 2);—1_;?)}9,] ke pabola),

[
H -

>
|> HMek: o3

oHd =

B

3(x=2y)=2x+y
3x—6y:2x_|_y

x = TyelBg Fojz1 Aof ¥
2x+4y _ 14y+4y 18y g

X=y Ty-y

s




8. p=a(l+nr) <] BT Aoz Yozt

> =

> g =Ly

a

p=a(l+nr)
£=l+nr

a

E—nr:l

a




9. 5x-3y-T=-x+9-14 0, bx+2y-1yc°] #FAo=
VEPH ay + b 2H2L St a4+ b 9] 722

@14 @-0 -5 @10 OGOu

S5 ~
5x—3y—7=—-x+9y—1, 6x=12y4+6, x = 2y+ 1= t4stHA
(F4) =-5(2y+1)+2y-1

=-10y-5+2y-1
=-8y-6
Ta+b=-14

El







